Chapter 4 Components of an Economics Society (Lecture Notes)

Four components of an economy: 
	Economy
	Components
	Sectors

	Closed market economy
	
	

	Closed economy
	
	

	Open economy
	
	



1. The Circular-flow model for a closed market economy
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Question 1. Refer to the circular-flow diagram for a closed market economy. Consider this scenario: Mario pays $10 to a gas station for 4 gallons of gasoline. Answer the following questions.

· Who is the household? 
· Who is the firm? 
· In which market does this activity take place, product market or factor market?

· Are the 4 gallons of gasoline in the outer loop or inner loop?

· Specifically, what is in the outer loop? (The $10 payment or 4 gallons of gasoline)

Question 2. Refer to the circular-flow diagram for a closed market economy. Consider this scenario: Peasley is an owner of Beanbean Shopping Center. Toad, an owner of Mushroom Toys, pays Peasley $700/month for renting one of the store spaces in the center. Answer the following questions.  

· Who is in the demand side for the Beanbean Shopping Center store space?

· Who is in the supply side of the Beanbean Shopping Center store space?

· Who is considered as the household in this scenario? 
· Who is considered as the firm?
· In which market does this activity take place, product market or factor market?

Households
a. Where do households get their income from?  
b. How do they spend their income? 
c. How equal is the U.S. income distribution? 
Share of total income (2009)

	3.4%
	8.6%
	14.6%
	23.2%
	50.3%


 Population             lowest fifth                         2nd fifth                   middle fifth                     4th fifth                 highest fifth


     $0 – 20,453                $20,454 – 38,550       $38,551 – 61,801        $61,802 – 100,000      $100,001 & up

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


 Lorenz curve                                                                                        
· What does the 45 degree diagonal line represent in the Lorenz curve?

· What does the reversed L-shaped curve represent?
· Gini Coefficient                    
Firms

	
	% of firms
	% of sales
	Advantage
	Disadvantage

	Sole proprietorship
	70%
	6%
	* easy to set up
* quick decision
	*unlimited liability
*not specialized

*limited capital

*limited life

	Partnership
	10%
	3%
	*more capital
*more specialized
	*unlimited liability
*limited life

*disagreement

*limited capital

	Corporations

( legal entity)
	20%
	91%
	*limited liability
*unlimited life

*issue stock to raise fund

*highly specialized in management
	*expensive to set up
*double taxation

*more legal restrictions

*conflict of interest among owners


· What is limited liability?  
· Which type of firms has unlimited liability?  
· What is double taxation?  
· Which types of firm are subject to double taxation?  

2. A closed economy – households, firms, and the government

Government

Refer to the circular-flow diagram for a closed mixed economy. Consider this scenario: Luigi registers ECON 2105 in Fall 2015 at South Georgia State College. Answer the following questions. 

•
Who is the buyer of ECON 2105?  

•
Who is considered as household?  

•
Is SGSC considered as the seller?  

•
Is SGSC considered as the firm? If not, what should it be?

•
In which market does this activity take place, product market or factor market?

a. Where does government revenue from? 


Federal government: 
Personal income tax 
% 





Social Security tax         % 

Local government:
Sales tax

%





Property tax

%

b. Where does government spending go?


Federal government:
Defense:

%





Health care

%





Social security

%


Local government:
Education

%

c. Who should pay tax?


Benefit-receive principle: who receives gov’t service; who should pay the tax. 


Ability-to-pay principle: Higher income should bear more tax.

The U.S. federal excise tax on gasoline is $0.184 per gallon (2015). According to which principle, benefit-receive principle or ability-to-pay principle, was this tax based on?
Which of the following tax is an example of ability-to-pay principle?

a.
Cigarette tax
b. Social security tax 
c. Federal personal income tax
Which of the following tax is an example of regressive tax?

a.
Property tax 
b. Sales tax 
c. State income tax
d. Taxation system


Progressive tax: tax rate is higher for higher income bracket. 



Federal income tax: (2007 single)
	Income (   <  x  <    )
	Tax rate

	0 – 7825
	10%

	7825 – 31850
	15%

	31850 – 77100
	25%

	77100 – 160850
	28%

	160850 – 349700
	33%

	349700 and up
	35%



Proportional tax: same tax rate for all income. e.g. Social Security tax 6.2%


Regressive tax: higher income bears lower tax rate. e.g. sales tax.

3. An open economy (households, firms, gov’t, and the rest of the world)
The rest of the world
